[ Efficiency vs vertpos |

—_
+—

=
]
>
0
>
>
[5)
o

Q@
3]

£
[}

Ratio

—— D
Efficiend —— B3

N

=
()
S

[
>
>

2
50.14

2
=
©

0.2

T, OSSR S S— —
T, SRS S — —
F Y] OSSR S To— —

0.12
0.1

0.02

ol
3o

................................................

1Qf

Lt

!

H . |4 < |
i 4 d ST

1 A ). el
" 0 it 2

1072 107 1

10 0?
TP vertr (cr%)

—_— U evi
SM:CKFREFn 1000evt

M_MKFitREFT_1000evt

M_TESTOLHIT_POS

0.2

0.18F

0.16

0.12

0.1
0.08
0.06
0.04
0.02

.................................

e

8

RN LR RARE R

iy

o - Simta- ottt v @ - - - - -

o

19

o
o

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N

>
80.045

E
7

9.035
>

o
[
Q

D.025
[J]
0.015

0.005

Ratio

0.05

0.04

0.03

0.02

0.01

10

1.05]

iy

%55

5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


